S .

~
-

i

AV S
Tensile Spring

;é%ki*%l 22 e i2iE How to order ()
. SUS303 SUS304 A122 - w- 1®
B CAlZZ - 8- 19
TYPE NS RE
d MxP
o ¥ RERST
U_ - D-L1 L2
——i i—-—— -1 — —1 3-10
]_ 5-15
= 6-20 12
L3 L2 8-20 11
L1 8-25 16
U 2 B4 mm
D L1 L2 L3 B d H MxP
3 (10) 15 20 25 30 15 24 M3x0.5
3 1
4 15 20 25 30 35 40 10 3.2 M4x0.7
5 (15) 20 25 30 35 40 2 4 M5x0.8
5 2
6 (20) 25 30 35 40 16 5 M6x1.0
8 (20) (25) 30 35 40 20 6 2.5 3 6.5 M8x1.25

X (ERFE BL2JERT -

Che Na

(02)2688-3177 ‘ info@chena.com.tw ‘ @

(02)2688-3188
(02)2688-3881~3

‘ (@) sLHEHE 21



